Math 160:  7.4  Estimating the Population Mean with 
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is NOT known)

Either the population is normally distributed  or    n > 30,   or both

Then the Confidence Interval for the Population MEAN (  is:
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1.  Fill in the table with the appropriate values.

	Confidence Level
	( , 

area in 2 tails
	n, 

sample size
	d = n – 1, 

degrees of freedom
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	90%
	
	30
	
	 

	95%
	
	66
	
	

	99%
	
	501
	
	


2.
When consumers apply for credit, their credit is rated using FICO scores.  Credit ratings are given below for a sample of applicants for car loans.  

661    595    548    730    791    678    672    491    492    583    762    624    769    729    734    706

a. Use the sample data to construct a 99% confidence interval for the mean FICO score of all applicants for credit.

b. If one bank requires a FICO score of at least 620 for a car loan, does it appear that almost all applicants will have a suitable credit rating?

3.
A random sample of 35 cell phones has a mean life span of 4.6 years and a standard deviation of 1.9 years.   Find a 90% confidence interval for the mean life span of all cell phones.

Margin of Error, E
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